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 لامتحان النهائيا

الفيزياء 

ضع دائرة حول رمز الإجابة الصحيحة لكل مما يأتي:السؤال الأول: 
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 لامتحان النهائيا

الفيزياء 
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(𝟒𝟎𝟎 − 𝟕𝟎𝟎)𝒏𝒎(𝟐𝟎𝟎 − 𝟕𝟎𝟎)𝒏𝒎

(𝟒𝟎𝟎 − 𝟓𝟎𝟎)𝒏𝒎(𝟒𝟎𝟎 − 𝟗𝟎𝟎)𝒏𝒎
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 السؤال الثاني:

𝟏𝟎 𝒄𝒎
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 لامتحان النهائيا

الفيزياء 

ثالثالالسؤال 

𝟔𝟐. 𝟓 𝐜𝐦𝟏𝟑𝟔 𝐇𝐳
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 لامتحان النهائيا

الفيزياء 

𝒏𝒎 𝟔𝟓𝟎الرابع:السؤال 

𝟏 𝒎𝒎

𝟑𝟏 𝒎𝒎

𝐃
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السؤال الخامس:

𝟒𝟓𝟎 𝒍𝒊𝒏𝒆𝒔/𝒎𝒎 𝟔𝟓𝟎 𝒏𝒎
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 لامتحان النهائيا

الفيزياء 

ضع دائرة حول رمز الإجابة الصحيحة لكل مما يأتي:السؤال الأول: 

12345678911الرقم

الإجابة

 السؤال الثاني:
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 :ثالثالسؤال ال

:رابعالسؤال ال
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 لامتحان النهائيا

الفيزياء 

السؤال الخامس:

انتهت الأسئلة




